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Parts of Similar Triangles Practice
.7 (2016) . )

. i 1.  Find the penimeter of

Erupm'n;mul Penm;z;s Theorem ASTUN if
two polygons are At ASTUN ~ AYRA
then the perimeters are 4 2e B :
proportional to the measures S
of the corresponding sides. 25 [/
) 2a 12.5

AABC ~ AXTZ
Scale factor =2 N

PAMBC 2a+2b+2c |
" PAXYZ  a+b+c
a+b+c) 2

la+b+c) 1

=2

Example 1: If ATAR ~ ALID, find the perimeter of
ALID.

40

33 24 If ANEW ~ ADLO,
2 NE=36, EW=15,

PAJ4R JR NW=39_ and

= 1. Writ tiom usi _ :
PAIID 1D the Proportional DL=12. Find the

| | — penmeter of ADLO.
E — 33 Substiate knovn
¥ 24 75 diztances. N a L

3. Sobve for x.
33x=240075
x=7275

C_ﬁl:f:pEIEHETEI 15 2.7 5_1;111:1__5;? D
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(]

If two triangles are similar, A
then the measures of the
cotresponding altitudes are E W
proportional to the
measures of the
cotresponding sides.

~ A’s have corr. altitudes € [ 1 B
proportional to corr. sides D

AABC ~ AXTYZ -
AC AB BC 4D
Xz xy vz xw | T r
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If two triangles are similar, |
then the measures of the A T

- . _.-'" 'I ’ "-\-__\_
comresponding angle ] A -

the measures of the D

comresponding sides. L

~ A’s have corr. angle c

bisectors proportional fo

corr. sides X
AABC ~ AXYZ '

AC 4B BC AD S

XZ XY YZ XW z "

bisectors are proportional to Vd Vo B

If two triangles are sinmlar,
then the measures of the
corresponding medians are
proporticnal to the
measures of the
comresponding sides.

~ A's have corr. medians c
proportional to corr. sides

AABC ~ AXTYZ .
AC AB _BC 4D
XZ XY YZ XW

Example 2: G -
Find the length of IH if A
AEGO ~ AFIS. g/ s
..- I b '__ﬂ
L
. N
E
I
6 | s
F H
GE GN

IF - IH 1. Write a proportion showins that the ratio
of the angle bizectors is proportional to

E — E the ratio of the corresponding sides.

6 IH

9(IH) = 45

Qh;z___i:) 3. Solve for IH.

[ B

. Substitute kmonm distances.

3.

4.
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Find x if
APAS ~ AHMA.
P H
% |
M T
A7352 9
AESE ~ ACTR
Find the perimeter of

ACTR
£
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